0 Match the number bonds that are equal.

White
Rase
'Moths
Compare number bonds .

(3+4 ) (245 )
1+t ) (1+4 )
(340 ) ( 3+5 )
(2+3 ) (241 )
(4+a ) ( 3+3 )
(5+1 ) ( 0o+2 )
(2] A-re these number sentences true or false? @

Circle your answers.

24+4=34+3 true false
54+3<24+7 true false

6+1>3+7 true false



e Write <, > or = to make the statements correct.

a)3+4©4+4 9 Q1+6

b)2 +6 8 d3+0 0+ 3

e Here is some fruit.

3 < @

5p 6p 4p
5p 6p 4p

Kim buys an apple and some grapes.

How much does Kim spend?

Ron buys a pear and an orange.

How much does Ron spend?

Who spends the most money?

spends the most moneuy.
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